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1. Give the chemical structure and describe the usage of the following chemicals in the industry. (20%, 4% for each) 

(1) Endosulfan 

(2) Short chain chlorinated paraffins (SCCPs) 

(3) Bisphenol A 

(4) 3,3',4,4',5,5'-Hexa brominated biphenyls (PBBs) 

(5) Vinyl acetate 

2. w ~A. 1::1;~1Jt1t.Ai :J:f.H4mi11u~ *-1-l if co2 51& n ~r J:.ft-. *-1-l if co2 51&~--~~*} J1J.Ar M. *{±.-A.1.t.£. 
25°C r. A.1.t. if C02 5l&J:. * .f_ 400 ppm~' *-"'5Z-~7j<.1f .it f--iTAA..~ r 'tttt Jf-f-,fjfB~7j( if~ pH 1.t 0 (20%) 

(1) -A.1.t.& • 25°Cr 'C025Z.7J<.~1"f~'ftt H=3.4*1ff2 ( mole ) 
Lxatm 

(2) H2C03 <=> H+ + Hco; Kc1=2.33*1ff 8 

(3) HC03 <=> H+ +co:- Kc2=2.13*1ff 4 

3. Balance the following equations: (20%, 4% for each) 
W Oxidation of rto '2 and reduction of Mn02 to Mn2

+ 

(2) Oxidation of S20/ to SO/ and reduction of C12 to c1· 
(3) Oxidation of NH4 +to N03- and reduction of 0 2 to H20 
(4) Oxidation of CH3Coo· to C02 and reduction of Cr20 7· to Cr3+ 
(5) Oxidation of C6H120 6 to C02 and reduction of N03-to N2 

4. Please explain why the results of BOD and COD for the same sample are always different? (10%) 

5. Please describe the formation mechanism of primary and secondary PM 2.5? (20%) 

6. Please explain the formation mechanism of "Crown corrosion" in the public sewage system ? (10%) 


